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Determine the maximum value of P
that can be applied to the truss
system so that no member is
subjected to a tensile force exceeding

2 kN or a compressive force exceeding

1.5 kN.
D Determine the force in each
G » 3 kN
member of the truss system and
15m specify whether the members are
e el in tension or compression. 6 = 30°.
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00 What should be the magnitude of P

in order to make the force in the FE

member compression?




1 m H F Determine the force in members GF,
) GD, and CD of the truss system.
m
| A 74 E Specify whether the members are in
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— B C D tension or compression.
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] . Determine the force in members
3 m b JK, CJ, and CD of the truss system.
] A Specify whether the members are
B in tension or compression.
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For the truss system given on F :E: 500N
the side:
a) Calculate the support 2m A
reactions. o O
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b) Calculate the forces in the , 500N 500N 7777777
bars. 2m Y om Y 2m |
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Find the member forces in the truss system.
Specify whether the members are in tension

or compression.
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